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SECTION - A
Answer any FIVE of the following. (5x2=10)

Distinguish between Hire purchase and Sales.
How would you treat the transfer of goods from one department to another,
both at cost and at selling price, while preparing the departmental accounts?

What are the types of Branches?
What are the Accounts malntained under Stock and Debtors System?
Distinguish between single entry system and double entry system-
Bangalore Head office sends goods to its Mangalore Branch costing
7 4,00,000, Cost plus 33.33%. Pass Journal entry.
What do you mean by Outsourced accounting?
SECTION - B
Answer any FOUR of the following. (4x5=20)
Differentiate bétween the Hire Purchase System and the Instalment System.
How do you allocate the following expenses, in departmental accounting?
a) Plant depreciation, b) Canteen expenses c) Factory rentSTALOYSIUS COLLEGE LIBRARY
d) Expenses on power e) Labour welfare expenses MANCARUTT T 0T
‘A’ Itd Mangalore invoices goods to Bangaluru branch at cost. From the
following information prepare Branch a/c for the year ending 31.03. 2024.
Stock on 1.4.2023 15,500 | Cash Sales 96,000
Petty cash on 1.4.2023 1,500 | Cash remitted to branch for :
Stock on 31.03.2024 21,000 | Salary : 6,000
Petty cash 31.03.2024 3,200 | Rent : 3,600
Goods sent to branch 64,400 | Petty Cash : 2,400 12,000
Goods returned by branch 5,600
From the following calculate Total Sales:
g
Opening debtors 15,000
Closing debtors 18,000
Cash received from debtors and Bills receivable 30,000
Opening Bills Receivable 8,000
B/R received during the year 16,000
Closing Bills Receivable 10,000
Bad debts written off 1,000
Cash sales 25,000
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12. Kumar purchased a machine under hire purchase system from Prasad. The

13.

14,

15.

cash price of the machine was ¥ 37,000. The payment for the purchases Is to
be made as under.

On signing the contract 7,000

End of the first year ¥ 10,000

End of the first second year ¥ 10,000

End of the third year ¥ 10,000

Calculate interest included in each installment.

Write a short note on ‘Digital accounting system”.
SECTION - C

Answer any TWO of the following. (2x15=30)
Sugreeva Co. Ltd., purchased a Car from Maruthi Motors Ltd. on hire
purchase system on 1.1.2020 and agreed to pay ¥30,000 down, ¥ 39,000 at
the end of first year, 236,000 at the end second vear and ¥ 33,000 at the
end of third year. Interest at the rate of 10% per year is included in the
above instalments. Sugreeva Co. Ltd. depreciated Car at 20% per year on
diminishing balance.

Ascertain the cash price and prepare necessary ledger accounts in the books
of both the parties. -
From the following trial balance of Ujala Departmental Stores, Prepare
Columnar Trading account and General Profit and Loss A/c, and
consolidated Balance Sheet as on 315 March, 2016. STALOYSIUS COLLEGE LIBRARY

. MANGALUTI - R75 003
Trial Balances as on 31.03.2016

Particulars Debit 4 Credit ¥

Capital g -- 3,00,000
Land and building 2,25,000 -
Furniture 35,000 --
Opening Stock: Dept A | 1,20,000 --
Dept. B 2,40,000 --

Drawings 2,80,000 --
Purchases and Sales Dept A 12,00,000 20,00,000
Dept. B _ 17,00,000 32,00,000

General Expenses 14,00,000 --
Debtors and Creditors 2,10,000 1,00,000
Bank 1,90,000 --
56,00,000 56,00,000

Additional information:
1. Closing stock of Dept. Ais ¥ 1, 30,000 which includes goods purchased
from department B at an invoice price of ¥50,000.
2. Closing stock of Dept. B is ¥ 2, 60,000 which includes goods purchased
from department A at an invoice price of ¥ 1,08,000.
3. Sales of Dept. A and Dept. B includes goods transferred to the other
department at ¥2,00,000 and Z 3,00,000 respectively.
Depreciation Is to be provided on Land and Building @ 5% p.a. and on

Furniture @ 10% p.a.
Contd...3
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16. The following trial Balance of a Branch is given to you:

Debit Balances g Credit Balances £4
Stock (Opening) 8,300 | Sales 44,100
Purchases 20,100 | Sundry Creditors | 5,200
Goods Received from Head Office A/cC 14,100
Head Office 15,600
Carriage 1,800
Salaries 6,100
General Expenses 3,600
Debtors 6,800
Balance at bank 1,100

' 63,400 63,400

Additional Information :
1. Branch Account in the head office books shows a debit balance of
Z 14,100.
2. The closing stock at the branch was 2 7,600.
3. Salaries outstanding ¥ 250. §TALOYSIUS CQLLEGE LIRRARY
MANGAI TR E75 003
Give Incorporation entries; Prepare Branch Trading and Profit & Loss a/¢ and

Branch a/c, in the books of head office.
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10.
11.

12.

13.

SECTION - A
AnéWefanﬁ”FlIVi;_&f the following. (5x2=10)
Find the sum of 2+ 4 + 6+...... +666.

. A housemaid is paid ¥ 800 for 8 days. If she works for 25 days, how much will

she get?
A limited company wants to create a fund to help its employees in critical
circumstances. The estimated expenses per year are ¥1,80,000. Find the
amount to be deposited by the company if the rate of compound interest
is 15%.

If 4x2 + 6x = 10 find value of x.

If 222 = 4, find x.

3 4
‘ 1] Calculate A+ B

Calculate the height of a triangle whose base is 15cm and area 250cm?,

n - -

SECTION - B

Answer any FOUR of the following. (4x5=20)

If U= {24,6810,12,14}  STALOYSIUS COLLEGE LIBRARY
MANGALURU - 575 003
A= {248} B={8,10,12)

Prove that (AUB)l = Al n Bl
Arya deposits ¥ 500 beginning of every month for 30 months in a bank that pays
a simple interest of 6.25% on RD. Find the amount he will receive at the end of 30

months
Find the value of x and y, if 4x + 3y = 34 and 2x + 6y = 44.

In how many ways 4 math books, 5 English books and 6 statistics books arranged

in a row, so that books of the same subject are together.

A bag contains 6 red, 7 yeliow and 5 blue marbles. 3 marbles are drawn. What is
the probability of getting one from each colour.

The diameter of a cylinder is 30cm and it's height is 10cm. Calculate the Total
surface area and the volume.
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14. a)

b}

15, a)

b)

16. a)

b)

SECTION - C
Answer any TWO of the following. (2x15=30)
Out of 1000 people, 300 like classical music, 450 like light music, 525 like
pop music, 120 like classical and light, 150 like light and pop, 135 like
classical and pop, while 100 like all three music. Find

i) Number of people who did not like any music

i) Number of people who like only one type of music. (10)

STALOYSIUS COLLEGE LIBRARY

1 1 1
If 400z = 5¥ = 16z. Then show that 2y +z=x. MANGALURYU - 75 003

A bag contains ¥ 510 in the form of 50 paise, 25 paise, and 20 paise coins In

the ratio 2: 3: 4. Find the number of coins of each type. (7)

A can lay a railway track between two stations in 16 days and B can do the
same job in 12 days. With the help of C, they did the job in 4 days only.
Find, C alone can do this job in how many days? (8)
Divide ¥ 300 among three friends A, B and C such that B gets ¥20 more than
A. And C gets half of the amount A and B together get. (8)

Marginal cost curve of a firm under perfect competition is given as

MC=q%2—8g—1 If market price s fixed at¥47, find output
equilibrium. (7)
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SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What is Magnetic Ink Character Recognition?
2. Give the meaning of vindictive damages.
3. Who is an Executor?
4. What are the effects of endorsement?
5. State any two benefits of debit card.
6. Differentiate between paying banker and collecting banker.
7. When can a banker disclose the secrecy of his customers Account?
SECTION - B
Answer any FOUR of the following. (4x5=20)
8. Explain the legal consequences of dishonor of cheques.
9. Differentiate between holder and holder in due course.
10. Explain the rights and liabilities of collecting banker as an agent of his
customer. ST ALOYSIUS COLLEGE LIBRARY
11. Explain the significance of E-Payments. MANGALURU - 575 603
12. “Central bank is the banker of all other banks”. Explain this statement.
13. Explain the precautions to be taken while opening the account of Partnership
Firms.
SECTION - C
Answer any TWO of the following. (2x15=30)
14. Explain the General relationship between a banker and a customer.
15. Explain the precautions to be taken by banker while opening and operating
Minor's Account.
16. Define Bills of Exchange. Explain the characteristics and parties of bills of

exchange.
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SECTION - A

Answer any FIVE of the following. (5x2=10)
1. The following data relate to the overhead expenditure of contract cleaners at

two activity levels:

{Square metres cleaned 1 12,750 ;f#_iS,lOO_j
[overheads 17 $73,950 | 483,585 !
Using the high-low method, what is the estimate of the overhead cost if

16,200 square metres are to be cleaned?

2. A company manufactures a product in batches and then holds the items
produced in finished goods inventory until they are sold. It is capable of
replenishing the produci: at the rate of 100,000 units/year, but annual saies
demand is just 40,000 units. The cost of setting up a batch production run is
$1,500 and the cost of holding a unit of the product ininventory is
$25/year. What is the economic batch quantity for manufacturing this
product?

3. A company uses process costing to value output. During the last month
the following
information was recorded:

Output: 2,800 kg valued at $7.50/kg

Normal loss: 300 kg which has a scrap value of $3/kg

. STALOYSIUS.COLLEGE LIBRARY

Ab in: 100 k 4 )
normal gain J ! _ MANGALURU.--575 03

What was the value of the input?

4, Two years ago the price index appropriate to the cost of material X had a
value of 120. It now has a value of 160. If material X costs $2,000 per kg
today, what would its cost per kg have been two years ago?

5. Below is a statement of variances for a business:

Sales price variance $200F

Sales volume variance $350F

Materials price variance $250F

Materials usage Variance $120A

Labour rate variance $450A

Labour efficiency Variance $800A

Fixed overhead expenditure variance $600F

Fixed overhead volume variance $860A

The actual profit for the period was $7,170 what was the budget profit?
Contd...2
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CAP Inc budgeted to make 50 units in July with a standard labour usage of
1.2 hours per unit. Actual output was 49 units which took 61 hours. What is
the capacity ratio?

What is Primary data?

SECTION - B
Answer any FOUR of the following. (4x5=20)
Lerna produces hydras in three production departments and needs to
apportion budgeted monthly fixed costs between those departments.

Budgeted costs are as follows:

IRent 2,000
Prr 1,00(")'
Plant insurance 1,000

ifPlant depreciation | 10,000

Eupervisor’s salary 7,000

The following additional information is available.

Department A Department B | Department C
Area (square feet) 3,800 3,500 ;’ 700
Value of machinery ($000) 2100 | 110 | 80
fNumber of employees 34 16 ! 20

What is the total budgeted monthly fixed overhead cost for_Depa'rtment AB &
c? g
The following information is provided for a 30-day period.

T STATaYSITG e T
‘llo:!sr"gilﬁgxl} 'E?:n';': RARY - : i(:;:qigzh I! Single rooms

Number of rooms in hotel [ 260 I[ 70

|_N.an_l5er of rooms available to let 240 i— 40

Average number of rooms occupred daily 200 { 30 B

Number of guests in period - '_-B—ZS'TJ" R

Average length of stay 2 days

Payroll costs for period $100,000

Cost of cleaning supplies in period $5,000

Total cost of laundering in period $22,500

What is the average cost per occupled bed per day for the period?
Contd...3
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10. Mr Grob started trading in 20X3, selling one product, wheelbarrows, on credit
to small retail outlets. The following budgeted information for 20X4 has been

gathered:

! January 20X4 February'20x4""r|\?|é?c'h"zox4 f

H

[Creditsales | $12,000 $15,000 |'$21,0'00

Receivables have recently been settling their debts 50% in the month
following sale, and 50% two months after sale. A prompt payment discount
of 3% is offered to those receivables paying within one month.
The gross profit margin is expected to be 25%. Due to an anticipated
continued increase in sales, Mr Grob intends to increase inventory levels in
March 20X4by$2,00'0, and it is intended that the payables balance is
increased by $3,000 to ease cash flow in the same month.
Required: ‘
(a) Calculate the budgeted cash that will received in March 20X4.
(b) Caiculate the budgeted payment to suppliers in March 20x4.

11. A pie chart is belng produced to represent the sales from different regional
offices of a business: STALOYSIUS COLLEGE tIRRARY

MARCa R L R7s g

C $000 |
North 125
[l\T orth West | 180
East 241
South | 6‘9}“—I
South East 147
Total 1,384

What would be the angle for each divisions section on the pie chart (to the

nearest whole degree)?

Note: Do not draw the Pie chart only Calculation is required.

12. a) A business operates a job costing system and prices its jobs by adding

10% to the total cost of the job. The prime cost of a job was $2,840 and it
had used 45 direct labour hours, Thefixed production overheads are .
absorbed on the basis of direct labour hours. The budgeted overhead
absorption rate was based upon a budgeted fixed overhead of $5,000 and
total budgeted direct labour hours of 500. What should the job be sold
for? (2.5 Marks)

Contd...4
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b) KL currently pays its direct production workers on a time basis at a rate
of $6.50 per hour. in an effort to improve productivity, the company is
introducing a bonus based on (time taken/time allowed) x time saved X
rate per hour. The standard time allowed for a worker in the Assembly
Department to perform this particular operation once has been agreed at
37.5 minutes. In the first week of the scheme’s operation, one employee
worked for a total of 44 hours and performed 94 operations. What are the
gross wages for this employee based on a time rate of $6.50 per hour
plus the productivity bonus based on (time taken/time allowed) x time
saved x rate per hour, to 2 decimal places? (2.5 Marks)

Give a note on Alternative Costing techniques- Life Cycle Costing, Target

Costing and Total Quality Management. ST ALOYSIUS COLLEGE LIBRARY
MANGALIIRL - 575 G432

SECTION - C
Answer any TWO of the following. (2x15=30)
Some details from a frequency distribution of time taken in seconds to

produce a particular proi:iuct are given:

]“’TTrii'eTa",EéH:ifF—r@aﬁzi e
[30s-110 | 2 ‘
i'*_i'16'-"1"1§_["""“5“" a
115-120 | 4

[ 120-125 | 8
[ 125-130 i 10
["130-135 |5

| 135-140 | 4 N
| 140-145 | 2

Calculate the mean and standard deviation of this frequency distribution.

a) J Co is consldering investing in‘a new machine costing $18,750, payable
Immedlately. The scrap value will be zero, and the machine will be
depreciated on a straight line basis.

Output would be 1,000 units per year for each of the six years of the
machine’s life. Each unit earns a contribution of $5.

Required:

(i) Assuming that the cash flows arise evenly throughout the year, calculate
the payback period in years and months. (2 marks)
(ii) The management of J Co have heard about the concept of the time value
of money.

Required: (ii a.) Complete the gaps in the following statement:

The time value of money means that $1 now is worth (GAP 1) than $1 in the
future. The reasons for this are risk, (Gap 2) and potential for earning a

return e.g. interest. (2 marks)
Contd...5
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(li b.) Using a discount rate of 8%, and assuming that the cash flows arise at

the end of a year, calculate the discounted payback
period. (2 marks)

(iii) Using a discount factor of 8%, calculate the net present value of
purchasing the new machine. (2 marks)
(iv) Are the following statements about investment appraisal true or false?
Statermnent one: If the cost of capital increased to 10%, the net present value
of purchasing the new machine would decrease. Statement two: The payback
method of investment appraisal is a useful method to consider time risk.

Statement 1 Statement 2

A Cheney, True - False
B " True , True
C False False
D False True (2 marks)

b) An organisation has the following total costs at three activity levels:
Activity level (units) ;8,000 12,000 15,000

Total cost $ 204,000 | $250,000 $274,000
Variable cost per unit is constant within this activity range and there is a step
up of 10% in the total fixed costs when the activity level exceeds 11,000

units.
What is the total cost at an activity level of 10,000 units? (5 marks)

a) The budget for Bright's first month of trading, producing and selling boats

was as follows: STALOYSIUS COLLEGE LIBRARY
. $000 pIaANRAT TPl - 575 003

Variable production cost of boats 45

Fixed production costs 30

Production costs of 750 boats 75

Closing inventory of 250 boats (25)

Production cost of 500 sold 50

Variable selling costs 5

Fixed selling costs 25

Profit 10

Sales revenue a0

The budget has been produced using an absorption costing system. Assume
that at the end of the first month unit variable costs and fixed costs and
selling price for the month were in line with the budget and any inventory
was valued at the same unit cost as in the above budget. However, if
production was actually 700 and sales 600, what would be the reported

profit using absorption costing (Rewrite the Statement). {5 Marks)
Contd...6
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b) Extracts from a company’s accounts show the following balances:

£000 £000

Inventories 150 | Revenue 2,700
Receivables | 300 | Cost of sales 1,300
Cash 25 | Gross profit 1,400
Payables 230 | Admin costs 500
Overdraft 90 | Distribution costs 350
Operating profit 550

Finance cost 75

Calculate the following for the company

-current ratio & quick ratio,

-Gross Profit and Operating profit ratio

|
LOYSIUS COLLEGE L
st NMANGALURY - 575 003

-receivables’ payment period, payables’ payment period and inventory

holding period in days (to the nearest day)

-return on sales for the company and interest cover of the company

sk 3k o e K 3K %k K Kok
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SECTION - A
Answer any FIVE of the following. (5x2=10)

1. According to IFRS 10, how is parent and subsidiary entity defined?

2. Define Lease.

3. Define IAS 10 - Events after the Reporting Period and what are its types?

4. Gerard's earnings for the year ended 31 December 20X4 are $2,208,000. On 1

January 20X4, the issued share capital of Gerard was 8,280,000 ordinary
shares of $1 each. The company issued 3,312,000 shares at full market value
on 30 June 20X4. Calculate the EPS for Gerard for 20X4.

Write the formula to corﬁpute:- a) Gross profit margin b) Operating profit
margin.

Statements of financial position at 31 December 20X4

Particutars P S
$000 | $000
Non-current assets 60 50
Investment in S at cost 50
Current assets 40 40
150 90
Ordinary share capital ($1 shares) 100 40
Retained earnings 30 10
Current:liabilitles ~u: -« . 20 40
Tt . 150 90
P acquired 100% of the shares in S on 31 December 20X4 at a cost of
$50,000. STALOYSIUS CALLEGE LIBRARY

MAmARI L 675 007

Prepare the consolidated statement of financial position at 31 December 20X4.
Simple has estimated its income tax liability for the year ended 31 December
20X8 as $180,000. In the previous year the income tax liability had been
estimated as $150,000. Required: Calculate the tax expense that will be
shown in the statement of profit and loss for the year ended 31 December
20X8 if the amount that was actually agreed and paid to the tax authorities in

respect of 20X7 was: (a) $165,000 (b) $140,000
' Contd...2
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SECTION - B

Answer any m&of the following. (4x5=20)

During 20X1 a company discovered that certain items had been included in

inventory at 31 December 20X0 at a value of $2.5 million but they had in fact

been sold before the year end. The original figures reported for the year

ending 31 December 20X0 and the figures for the current year 20X1 are given

below:

Particulars 20X1 20X0
$000 $000

Sales 52,100 [48,300

Cost of sales (33,500} | (30,200)

Gross profit 18,600 18,100

Tax (4,600) |(4,300)

Net profit 14,000 13,800

The retained earnings at 1 January 20X0 were $11.2 million. The cost of goods
sold in 20X1 includes the $2.5 million error in opening inventory.
Show the 20X1 statement of profit or loss with comparative figures and the
retained earnings for each year. Disclosure of other comprehensive income is
not required. Assume that the adjustment will have no effect on the tax

charge.
Briefly explain the advantages and disadvantages of historical cost accounting.
Write a note on:- a) Profit organisation b) Non-Profit organisation.

An entity revalued its fand and buildings at the start of the year to $60 million
($15 million for the land). The property cost $30 million ($6 million for the
fand) ten years prior to the revaluation. The total expected useful life of 40
years remained unchgnged. The entity's policy is to make an annual transfer
of realised amounts to retained earnings. Show the effects of the above on the
financial statements for the year. St m;f;gzﬁﬂi?f ulnl;? RARY
Can you explain the conditions that an intangible asset must meet to be
considered identifiable; as per IAS 38?
An entity issues 2% convertible bonds at thelr nominal value of $36,000.
Interest s payable annually in arrears.
The bonds are convertible at any time up to maturity into 40 ordinary shares
for each $100 of bond. Alternatively, the bonds will be redeemed at par after 3
years,
Similar non-convertible bonds would carry an interest rate of 9.1%. The
present value of $1 payable at the end of year, based on rates of 2% and
9.1% are as follows:

End of year 2% 9.1%

1 0.98 0.92
2 0.96 0.84
3 0.94 0.77

Contd...3
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What amounts will be shown as a financial liabllity and as equity when the
convertible bonds are issued?

What amounts will be shown in the statement of profit or loss and statement
of financial position for years 1-37

Work to the nearest $000.

SECTION - C
Answer any TWO TWO ‘of the following. (2x15=30)
How does the regulatory framework influence the development and
enforcement of accounting standards and also discuss the role of regulatory
bodies in overseeing financial reporting practices and maintaining
transparency in financial markets.
The following trial balance relates to Hume at 30 June 20X7:

$ $
Revenue 390,000
Cost of sales : 210,600
Distribution costs 6,800
Administration expenses 12,700
Loan interest paid 3,600
Property — cost : 150,000
Property - depreciation at 1 July 20X6 38,400
Plant and equipment — cost 176,200
Plant and equipment - depreciation at 1 July 48,600
20X6
Trade receivables 31,600
Inventory — 30 June20X7 18,100
Bank - 11,950
Trade payables 25,400
Ordinary shares $1 50,000
Share premium : 9,000
12% Loan note (issued 1 July 20X6) 40,000
Taxation 1,300
Retained earnings at 1 July 20X6 11,450

612,850 612,850

ST ALOYSIUS COLLEGE LIBRARY
The following notes are relevant: MANGA'URU - £7% 003

1.Property includes land at a cost of $30,000. The building is being
depreciated on a straight-line basis over its estimated useful life of 25
years.

2.Plant and equipment is being depreciated on the reducing balance basis
at a rate of 20% per annum.

3.The balance on plant and equipment included a piece of specialist
machinery that cost $70,000 on 1 July 20X5. On 30 June 20X7 a fork-
lift truck reversed into the machinery causing severe damage. Hume
has identified two possible options:

Contd...4
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» Sell the machine
A potential buyer has been located, who has indicated that she would pay
80% of the carrying amount at 30 June 20X7. However, she has insisted that
the machine is repaired before she buys it. The repair work will be done by
Hume’s employees and will take about 120 hours of skilled labour, the
associated cost with this labour is $2,160.
In addition, Hume will have to deliver the machine to the buyer at a cost of

$2,100 and there will be a single premium insurance cost of $580 for the

journey. STALOYSIUS COLLEGE LIBRARY

: : . . MANGALURY - 575 003
« Repair the machine and continue to use it

The financial controller has estimated that the present value of cash flows
generated from future use (including the repair cost) amount to $31,800.

4.All depreciation Is charged to cost of sales.

5.The directors have estimated the provision for income tax for the year

to 30 June 20X7 at $6,500.

Required: Prepare the statement of profit or loss for Hume for the year to 30
June 20X7 and a statemeﬁt of financial position at that date.
a) On 1 January 20X1, Castle entered into a contract with a customer to
construct a specialised building for consideration of $10m. Castle is not able to
use the building themselves at any point during the construction.
At 31 December 20X1, Castle had incurred costs of $6m. Costs to complete
are estimated at $6m. Castle measures progress towards completion based on
costs incurred.
At 31 December 20X1 Castle had received $3 million from the customer.
Required: How shoulc'l"this transaction be accounted for in the year ended 31
December 20X17?
b) On 1 January 20X1 Amir entered into a contract with a customer to
construct a stadium for consideration of $100m. The contract was expected to
take 2 years to complete.
At 31 December 20X1 Amir had incurred costs of $24m. Costs to complete are
estimated at $20m. In addition to these costs, Amir purchased plant to be
used on the E:b'ri';t'rac';t' at a cost of $16m. This plant was purchased on 1
January 20X1 and will have no residual value at the end of the 2-year
contract. Depreciation on the plant is to be allocated on a straight-line basis
across the contract, '
Amir measures progress on contracts using an output method, based on the
value of work certified to date.
At 31 December 20X1, the value of the work certified was $45 million, and
the customer had paid $11.4m.
Required: How should this transaction be accounted for in the year ended 31

December 20X17?
B KR EKEN KR
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St Aloysius College (Autonomous)
Mangaluru
Semester II - Degree Examination
MAY - 2024
B.Com.-Apprenticeship/Internship Embedded
Banking, Financial Services & Insurance

Max. Marks : 60

me : 2 ¥2 Hours

N U S WO ke

14.
15.
16.

SECTION - A

Answer any FIVE of the following. (5%2=10)

. Who is a bailee?

. Expand SLR.

. Mention the documents required for KYC verification
. What is merchant banking?

. State the principles of insurance

. What is saving account deposits?

. What is cash credit?

SECTION - B

Answer any FOUR of the following. (4x5=20)

. Write a note on banker

. Explain the merits of bill of exchange
10.
11.
12.
13.

Explain any 5 different modes utilized by banks to provide various banking services.
Explain the nature of financial services

Explain the types of EFT payments

Explain the purpose of passBook

SECTION - C

Answer any TWO of the following . (2x15=30)

Explain the ancillary services provided by the banks in detail.
Explain the various channels of banking ST ALOYSIUS COLLEGE LISRARY

Explain the functions of banks MANGALURL - 575 003
Kk FER
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St Aloysius College (Autonomous)

Mangaluru
Semester IX ~ Degree Examination

May - o &l
B.Com. (Accounting and Tax)
FINANCIAL ACCOUNTING - IT

Time: 212 hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What you mean by Income and Expenditure Account?

2. State True or False with reason
There is opening balance of Income and expenditure account.
3. State any two disadvantages of not following the double entry system of

accounting.
4. Three partners sharing profits in the ratio of 3:2:1 increased their net assets

for the year by Rs.90,000. They had withdrawn Rs.30,000, Rs.20,000 and
Rs.10,000 eﬂach respectively, What will be the share of the third partner who
has 1/6 th share? - - - -

5. State true or false with reason
When a new partner is admitted, old partners have to forego certain share in
profits of the firm, this is called as sacrifice ratio. ST ALOYSIUS COLLEGE LimpaRy
6. What you mean by LLP? MANGALURU - 575 063

7. What is Sec 37 in case of death of partner?

SECTION - B

Answer any FOUR ofthe following. (4X5=20)
8, Summary of receipts and payments of Bombay Medical Aid society for the

year ended 31.12,2022 are as follows:

Opening cash balance in hand ?8,000,lsubscription 250,000, donation

¥15,000 (raised for meeting revenue expenditure), interest on investments @

9% p.a. T9000, payments for medicine supply 230,000 Honorarium to doctor

%10,000, salaries ¥28,000, sundry expenses 71,000, equipment purchase

¥15,000, charity show expenses ¥1,500, charity show collections ¥12,500.

Additional information:

1.1.2022 [31.12.2022]
Subscription due 1,500 2,200
Subscription received in advance 1,200 700
Stock of medicine 10,000 15,000
Amount due for medicine supply 5,000 13,000
Value of equipment 21,000 30,000
Value of building 50,000 48,000

You are required to Prépare receipts and payments account and income and
expenditure account for the year ended 31.12.2022 and balance sheet as on
31.12.2022.

Contd...2
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Calculate the credit purchases from the below information:

Openlng balance of creditors %4,00,000
Closing balance of creditors ¥5,00,000
Payments made in Cash ¥8,50,000
Discount received 320,000

The ledger of the Firm XYZ showed the following balances: Creditors 284,000,
Mrs. A’s loan Rs.50,000, Partner B's Loan 725,000 along with A’s Capital at
£159,000 and B ¥89,000. They share profit in the proportion of 3:2. The
assets realized in three instalments: Instalment I - 1,00,000, 1I Instalment -
FRs.1,50,000 and Instalment III ¥1,60,000. Show piecemeal distribution
under Highest relative capital method.

On 1% January 2014, A Ltd had 1,000 12%debentures of Rs.100 each.
Interest on debentures is payable half yearly on 30" June and 31% December.
On 1% May 2014, the companypurchased 300 own debentures at Rs.93 ex-
interest for immediate cancellation. Pass necessary journai entries

Green Ltd invited applications for 10,000 shares of 20 each payable as

STALOYSIUS COLLEGE LIBRARY

follows:
MANGALURY - 575 003

o On Application - 5
o On Allotment - 26
And the balance as and when required. Applications were received for 15,000

"shares. The d|rectors dec1ded to allot on pro-rata basis.

Based on the above information, answer the following questions:

a. What is the application money received?
b. What is the amount of excess application money refunded?
c. Whatls the amount of excess application money adjusted
towards the allotment dues?
d. What is the total amount due on Allotment?
What is the net amount due on allotment after adjusting the excess

application money?
The following particulars are available in respect of the business carried on by
Rathore

SR 3
k T

(jl*"'CamtanInvested

1,50, 000
(2) Tradmg Results R L
Profit 40,000
Profit 36, 000

Coolosg 6,000 -,
U Profit. 50,000.__ '

26,000
¢ - per.annum
Contd...3
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You are required to compute the value of goodwill on the basis of Syears’

purchase of super profit of the business calculated on the average profits of

the last four years.

SECTION - C
Answer any TWO of the following. {(2X15=30)
A, B & C were in partnership sharing profits in the proportions of 5:4:3. The
balance sheet of the firm as on 31st March, 2022 was as under:

, o
Capltal accounts T -'letur-e's - 8,2?0‘
A,.-"_';;- LR -1,35,936' Inventorles . ) 1}512,:3:0,9.:':
B ~g “ o 95,120 Trade recelvabies 9-3',‘5.'0‘0': o
e T i kgde s -:74;91:0,-;
Trade payables Cobeeo | T L

RS x-S T R 33 510~

A had been sufferlng from 1|I health and gave notlce that he wished to retire.
An agreement was, therefore, el;}tgrtad into as on 31st March, 2022, the terms
of which were as follows: -
i.  The profit and loss account for the year ended 31st March, 2022 which
showed a net profit of ¥48,000 was to be re- opened. B was to be
credited with 24,000 as bonus, in consideration of the extra work which
had devolved upon him during the year. The profit sharing was to be

STA
revised from 1st-April, 2021, as 3:4:4. Lﬁﬂgﬁﬁuﬁ olt:: ARy

.  Goodwill was to be valued at two years’ purchase of the average profits

of the preceding five years. The fixtures were to be valued by an
independent valuer. The valuations arising out of the above agreement
were goodwill 56,800 and fixtures 710,980. A provision of 2% was to
be made for doubtful debts and the remaining assets were to be taken
at their book values.
B and C agreed, as between themselves, to continue the business, sharing
profits in the ratio of 3:2 and decided to retain the fixtures on the books at
the revised value, and to increase the provision for doubtful debts to 6%.
Required:
Draw up the capital account of the partners after carrying out all adjusting
entries as stated above and balance sheet
From the following balances and particulars of Republic College, prepare
Income & Expenditure Account for the year ended March, 2022 and a Balance
Sheet as on the date :

Contd...4
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Prowc;lent‘Fund e

u:tmn Fee Recelvedr
Government Grants '
Denanons'n ‘

Eu i

I_nter t & Dlwdends on Investments

Scholarships
Students Welfare expenses.
Repalrs & Malntenance

Teachrng

MANGALURU - 575 003

Other Investments o _
Prowd ent -FUnd{_Investment

5"1'0 000
. 14,50,000
\'28 ooo

8‘"50 ooo

¥ sq 000 .

-.14,80,000_
1, 28 ooo

Kiso.00

i 2,00,000;
. [7,50,000.
sl R R RS, ooo
,".,,j,3'-,00 ooo |
~18,00,000

ar T ,.8 50, 000 '
Resea rg:h STALOYSIVS ‘COLLEGE LIBRARY -

B 36, 000

50,000,
1,85, 000
1, 75 000

oy
"ot "

4,80 ooo"‘ .
5710, ooo

1,03,85,000

Contd...5
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Adjustments:
! 4
50 000
rch, | __ 150,000
Students 'Welfare N ‘ | . 75000
Ga‘ es. or Sports o T ' 25 000
(Zj : ult[on fee recewable from Government for o .8’_(:),0_(;\0_
baﬂ\cﬁkward class ‘Scholars - : h
(3) Stores selllng prices’ are 'r'xed to gwe a net proflt
of 10% on sell|ng price i N
i Depreuatlon is provnded on straight Ilne ba515 at] o i
the ollowmg rates ' - L
('suidiig Sl | %
(2)¢ Plant’s Equipment B dowtt
(3)" Furnlture & F|xtures o T ‘ 10% '
(4) I\flotor Vehlcle ’ ..'..': o B "20%‘ o

16. M/s X is a partnership firm with the partners A, B and C sharing profits and

losses in the ratio of 3:2:5. The balance sheet of the firm as on 30th June
STALOYSIUS CNLLEGE LIBRARY
2022, was as under: MANGALURU - 575 003

Balance Sheet of M/s. X as on 30.06.2022

b A _:‘ T T
T E 04, 000[ o 1,00, ooo

i 7_6,,_000 unldmg 2__,(_)0,009
-1,40,000|Plant and. - . | 3,80,000

R Machinery”  “w HET sl
©"i4,00,000| Investments . | 22,000
N 44,ddb Inventoriesf | 1,16,000
1,63,000( Trade recetvables 4,39,000
I 9,57,000 " |79,57,000

It ‘v‘\ias mu‘tuélly agreed thét B will retire from partnership and in his place D

will be admitted as a partner with effect from 1st July, 2022. For this purpose,

the following adjustments are to be made:

a. Goodwili of the firm is to be valued at ¥2 lakhs due to the firm’s
locational advantage but the same will not appear as an asset in the
books of the reconstituted firm.

Contd...6
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b. Buildings and plant and machinery are to be valued at 90% and 85%
of the respective balance sheet values. Investments are to be taken
over by the retiring partner at F25,000. Trade receivables are
considered good only upto 90% of balance sheet figure. Balance be

considered bad.

c. In the reconstituted firm, the total capital will be %3 lakhs, which will
be contributed by A, C and D in their new profit sharing ratio, which
is 3:4:3.

d. The amount due to retiring partner shall be transferred to his loan

account.  STALOYSIUS COLLEGE LYBRARY
MANGALURU - 575 003
Required:

Prepare Revaluation Account and Partners’ Capital Accounts.
LE R E S L L
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G 340 DC2.2 Reg. No. :
st Aloysius College (Autonomous)
Mangaluru

Semester II - Degree Examination
May - QO &L
B.Com. (Accounting and Tax)
QUANTITATIVE APTITUDE II

Time: 2%2 hours Max Marks: 60

SECTION - A

Answer any FIVE of the following.
1. What is the standard deviation of the number of recoveries among 48 patients

(5x2=10)

when the probability of recovering is 0.75?

2. Find the coefficient of Correlation.
2x + 3y = 2
4ax + 3y = 4 :

3. The number of ways of rearranging letters of the word ‘COMPUTER’ is

4. A sum amount to ¥1331 at a principal of ¥1000 at 10% compounded annually.
Find the time.

5 Mr. X invests ‘P’ amount at Simple Interest rate 10% and Mr. Y invests ‘Q’
amount at compound interest rate 5% compounded annually. At the end of

two years if both get the same amount of interest, then the relation between
... -STALOYSIUS COLLEGE LIBRARY
. MANATITITT . £75 403

two amounts P and Q |sg|venby
. P =410/80 Ji. P = 41Q/40
iii. P = 41Q/100 iv. P=41GQ/200

6. A dice is rolled twice. What is the probability of getting a difference of 2
points? ‘

7. If the price index for the year, say 2018 be 125 and the price index for the
year, say 2010 be 95 then the purchasing power of money (Rupees) of 2010
will in 2018

SECTION - B
Answer any FOUR of the following. (4X5=20)

8. i) A company manufactures cars of two types - A and B. Model A requires 150
man-hours for assembling, 50 man-hours for painting and 10 man-hours for
checking and testing. Model B requires 60 man-hours for assembling, 40 man-
hours for painting and 20 man-hours for checking and testing. There are
30000 man-hours available for assembling, 13000 man-hours for painting and
5000 man-hours for checking and testing.

Express the above using linear inequalities. If the company manufactures x

units of Model A cars and y units of Model B cars, then the inequalities are:
Contd...2
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a. 5x + 2y z 1000;
Sx + 4 = 1300;
x + 2y < 500;
x20,y=20

b. 5x + 2y < 1000,
5x + 4y < 1300,
x + 2y 2 500;
x20,y=20.

c. 5x + 2y < 1000,

S5x + 4y < 1300,

x + 2y < 500;

x=20,yz0.
d. None of these
ii) If a > 0 and < O, it follows that:
a.1/a>1/p b.1l/a<1/b cl/a=1/b d. None of the above (2 marks)
a) The number of parallelograms that can be formed from a set of four

{3 marks)

parallel lines intersecting another set of three parallel lines is (3 marks)
b) Every two persons shake hands with each other in a party and the total
number of handshakes is 66. The number of guests in the party is (2 marks)
X is a normal variable with mean = 25 and SD=10. Find the value of b such

that the probab:llty of the interval [2 5, b] is 0.4772.

‘ ST ALOYSIUS COLLEGE LIBRARY .
(G:ven ? (2) =0, 9772) MANGALURU - 575 003

What type of functiofi is (5 marks)
a) {(x, Y)/XEX, YEY, Yy=X} (3 marks)
b) The range of the function f(x} = logl0(1 + x) for the domain of real values
of xwhen0 £ x <9is ‘ (2 marks)
a) Find the mean and standard deviation of x where x is a Poisson variate
satisfying the condition P (x = 2) = P ( x = 3). (3 marks)
b) If the area of standard normal curve betweenz =0toz =1 is 0.3413,
then the value of @ (1) is (2 marks)
If P(A-B) = 1/5, P(A) = 1/3 and P (B) = 1/2, what is the probability that out
of the two events A and B, only B would occur? (5 marks)
SECTION ~ C
Answer any TWO of the following. (2X15=30)
‘ a) If "Pr = 720 and "Cr = 120. The vaiue of 'r'is {4 marks)

b) The letters of the words *CALCUTTA’ and 'AMERICA’ are arranged in all

possible ways. The ratio of the number of these arrangements is (3 marks)
Contd...3
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¢) Find the number of combinations of the letters of the word ‘COLLEGE’ taken

four together. (4 marks)

d) Out of 4 gentlemen and 6 ladies, a committee is to be formed. Find the

number of ways such that it comprises of at least 2 gents and the number of

ladies should at least be double the number of gents. (4 marks)

a) Out of 2000 employees in an office, 48% preferred Coffee (C), 54% liked
(T), 64% used to smoke (S). Out of the total, 28% used C and T, 32% used T

and S and 30% preferred C and S, only 6% did none of these. The number of

employees preferring on C is: (4 marks)

b) In a town of 20000 families, it was found that 40% families buy newspaper
A, 20% families buy newspaper B and 10% families buy newspaper C. 5%
families buy A and B, 3% buy B and C and 4% buy A and C. If 2% families

buy all the three newspapers, then the number of families which buy A only

is: (3 marks)

c) Divide 30 into five parts in AP such that the first and last parts are in the

ratio 2:3 (3 marks)
i. 24/5, 27/5, 6, 33/5, 36/5 ii. 6, 36/5, 33/5, 24/5,27/5
iii, 27/5, 24/4, 36/5, 33/5, 6 iv. 6, 24/5, 27/5, 33/5, 36/5

d) A man employed in a company is promised a salary of ¥3,000 every month
for the first year and an,increment of 1,000 in his monthly salary every

succeeding year. How much does the man earn from the company in 20

years? SIAL:;!‘:!P?};:I.LEGE([‘IBRARY (3 marks)
LRl

e) The sum of an infinite GP 1 - 1/3 + 1/9 - 1/27 +... is (2 marks)

a) What is the mode of the distribution for which mean and SD are 10 and V5

respectively. (5 marks)

b) What is the number of trials of a binomial distribution having mean and SD

as 3 and 1.5 respectively? (3 marks)

¢) Rupesh is known to hit a target in 5 out of 9 shots whereas David is known
to hit the same target in 6 out of 11 shots. What is the probability that the
target would be hit once they both try? (5 marks)

d) If the quartile deviation of a normal curve is 4.05, then its mean deviation
is {2 marks)

ook sfe ot o e ok ook Ok
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G 340 DC3.2 Reg. No. :
St Aloysius College (Autonomous)

Mangaluru

Semester 1I - Degree Examination
May - odORM,
B.Com. (Accounting and Tax)

BUSINESS LAWS I1

Time: 22 hours Max Marks: 60

SECTION - A

Answer any FIVE of the following.
1. State whether the following statement is correct or incorrect and justify your

answer: “Creditor should proceed first against the principal debtor and later

(5x2=10)

against the surety.”

2. Define “Unpaid seller” as per the Sale of Goods Act, 1930.
What are the contents of Incorporation document of LLP?

4. Mike LLC incorporated in S;ingapore having an office in Pune, India. Analyze
whether Mike LLC would be called a foreign company as per the provisions of
the Companies Act, 20137 Also explain the meaning of foreign company.

5. Explain the modes of negotiation as per The Negotiable Instruments Act,

1881.

6. When does the property pass in case of Unascertained goods?

Explain Listed and Unlisted company as per the provisions of The Companies

Act, 2013. N R Y
SECTION - B

Answer any FOUR of the following. (4X5=20)

8. Ordinarily, it is the owner of the goods, or any person authorized by him in
that behalf, who can pledge the goods. But there are some exceptions to this.
Briefly explain such exceptions.

9. Mr. K visited M/s Makrana Marbles for the purchase of marble and tiles for his
newly built house. He asked the owner of the above shop Mr. ] to visit his
house prior to supply so that he can clearly ascertain the correct mix and
measurements of marble and tiles. Mr. J agreed and visited the house on the
next day. He inspected the rooms in the first floor and the car parking space.
Mr. K insisted him to visit the second floor as well because the construction
pattern was different. Mr. J ignored the above suggestion.

Mr. J supplied 146 blocks of marble as per the size of the rooms and 16 boxes
of tiles with a word of caution that the tiles can bear only a reasonable weight.
Marble and tiles were successfutly faid except on second floor due to different
sizes of the marble. The tiles fitted in the parking space also got damaged due

to the weight of the vehicle that came for unloading cement bags. Mr. K asked
Contd...2
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Mr. ] for the replacement of marble and tiles to which Mr. J refused, taking the
plea that the marble were as per the measurement and it was unsafe to fit
tiles at the parking area as it «cannot take heavy Iload.
Discuss in the light of provisions of The Sales of Goods Act, 1930:

i. Can Mr. ] refuse to replace the marble with reference to the Doctrine of
Caveat Emptor? Enlist the duties of both Mr, K and Mr. J

ii. Whether the replacement of damaged tiles be imposed on M/s Makrana
Marbles? Explain.

10. What is the minimum number of partners required to form an LLP? What is the

consequence if the number falls below the minimum number of partners
prescribed? Who are designated partners in an LLP?

11. ABC Limited was registered as a public company. There were 245 members in
the company. Their details are as follows:
Directors and their refatives - 190
Employees — 15
Ex-employees (Shares were allotted when they were employees) -- 20
Others (Including 10 joint holders holding shares jointly in the name of father
& son) - 20
The Board of Directors of the company propose to convert it into a private

company. Advice whether reduction in the number of members is necessary

for conversion.
12. How is a Promissory note different from a Bill of exchange?

13. What do you understand by Indian Judicial System and what are its various

STALOYSIUS COLLEGE LIBRARY
MANGALURU - 575 003
SECTION - C

Answer any TWO of the following.
14. What do you mean by "Caveat Emptor"? Briefly explain the exceptions to this

functions?

(2X15=30)

doctrine.
15. Explain the rights and duties of an agent towards principal.
16. a) Explain the concept of “Separate legal entity” with the help of any landmark

case law? (7 Marks)
b) What are the situations in which courts can lift the veil? Explain along with
relevant case laws. (8 Marks)
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St Aloysius College (Autonomous)

Mangaluru
B.Com. / B.B.A. - Semester II - Degree Examination
May - 2024

Ability Enhancement Compulsory Course (AECC)
ENVIRONMENTAL STUDIES AND VALUE EDUCATION

: 212 Hours Max. Marks: 60
PART - A
ENVIRONMENTAL STUDIES
Answer any TEN of the following Questions: (2x10=20)

Define food web.

What is ecological succession?

List out four importance of forests.

Define Land degradation.

Define blodiversity hotspot. Mention any two hotspots of India.
Mention any four control measures of urban wastes.

Name any two Wildlife sanctuaries & National parks of Karnataka.
List out the four impacts of Deforestation.

Mention the four effects of acid rain.

Give four examples for man-made disasters to the environment.
What is Appiko movement? When and where it started?

What is Kyoto Protocol?

Answer any THREE of the following questions. (5x3=15)
Discus the scope and importance of environmental studies.

What is desertification? Explain its causes and effects.

Explain any five biogeographic zones of India.

What are major objectives of Wildlife Protection Act 1972 and Environment
Protection Act, 19867

Answer any ONE of the following questions. ' (10x1=10)
Write a note on ' ST ALOYSIUS COLLEGE LIBRARY

a) Global Warming ' b) Ozone layer depletion, ~ MANGALURU - 575 603

What are Pollutants? Write a brief essay on water pollution mentioning its
causes, effects and control measures.

Write an account on conservation methods of soil resources.

PART - B
VALUE EDUCATION (II Semester)
Answer any ONE of the following in not less than a page. (5x1=5)
Explain complications of teenage pregnancy.
Examine the effects of alcoholism.

Answer any ONE of the following in not less than two pages. (10x1=10)
What is pre-martial sex and explain its effects.
Explain the types of drugs.
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G 707 SB1.2 Reg. No. :
St Aloysius College (Autonomous)
Mangaluru
B.Sc./B.Com./B.B.A./B.C.A. - Semester I
May - 2024

(Skill Enhancement Course)
DIGITAL FLUENCY

Time: 22 Hours Max Marks: 60
SECTION A
Answer the following questions (Compulsory) (15X1=15)
1. Which of the following is not an application of artificial intelligence?
' a) Face recognition system b) Chatbots
¢) Natural language Processing d) DBMS
2. Apple’s, Siri, Amazon’s, Alexa, Microsoft Cortana and Google Assistant’s
are
a) Digital Assistant’s b) Neural Networks
¢) Data Base Systems d) Machine Learning Tools
3. Which of the following is not a part of the big data life cycle?
a) Data Ingestion - - b) Data Processing
¢) Data Sharing d) Data Designing
4. Which of the following category is used for business to consumer process?
a) Group IoT b) Community IoT

STALOYSI
c) Personal IoT d) Industrial loT M,ﬁvéﬁﬁﬂ E?: ot':'.B RARY

5. What is the full form of ICT?
a) Inter Connect Technology
b) Internet Connection Topology
¢) Information and Communication Technology
d) Infer Communication Topology "~ **  **
6. Which of the foIIowingT is an example of the cloud?
a) Amazon Web Services (AWS) b) Dropbox
~¢) Clsco WebEx d) All of the above
7. To protect the computer system against the hacker and different kind of viruses,
one must always keep on in the computer system.

a) Antivirus b) Firewall c) VLC player d) Script

8. Which of the following is not a type of Malware? ‘
a) Phishing b) Viruses c) Worms d) Trojans

9. The process in which the receiver interprets and understands the message is
called
a) Decoding b) Encoding c) Feedback d) None of these

10. arise when two individuals in an organisation belong to different

religion, states or countries.
a) Physical Barriers b) Cultural Barriers
¢) Perceptional barriers d) Emotional barriers

Contd...é
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11. Define Man-in-the-Middle(MitM) attack.
i2. What is IoT programming?
13. What is a backup?
14. Give one example for Non verbal communication.
15. ".W.hat is meant by Group Communication?
SECTION B

Answer any TEN of the following: (10X2=20)
16. What is Deep learning? Give an example.
17. What are neural networks?
18. List any two sources of big data.
19. What is data sclence?
20. Name any two Big data analytics tools.
21, Name any two real-world applications of IoT.
22. What are the types of Malwares?
23. Give any two differences between IaaS and Saas.
24. Mention the signs of bad communication?
25.  What is.'tl;iér'ciifference between critical thinking and creative thinking?
26. What is the meaning of teamwork?
27. What do you mean by Design Thinking?

ST ALOYSIUS COLLEGE LIBRARY
MANGALURU - 575 603

Answer any FIVE of the following: (5x5=25)
28. Explain the applications of Al in the field of social media, healthcare and

education, ‘
29, What is Big data life cycle? Explain the stages involved in the Big data life cycle.
30. Differentiate between IoT and IIoT.
31. Explain the benefits of cloud computing.
32. What is Cyber Attack? Explain the common types of Cyber Attacks with

examples.
33. Which are the skills needed to improve communication? Explain.
34, Explain the benefits of teamwork and collaboration.

EL R L2 LR
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I1

I1I

A.

UNIT - I (PROSE)
Answer the following in a word/phrase/sentence each. (5x1=5)
George Orwell is the pen name of
The chapter 'Black Money and Black Economy' is an extract from the book

According to Aruna Roy, the biggest horror for any individual or community is

Who lost his life trusting the wisdom of the crows in the text 'On Superstitions'?
According to George Orwell, serious sport has nothing to do with

Answer any THREE of the following in about 150-180 words each.
' (3x5=15)
Justify the author's preference to walk around the ladder than under it, in the
text 'On Superstitions'? el
What does Aruna Roy say ab'dﬁt‘t[ie importance of collective action?
What is black economy? How does Rammanohar Reddy explain the round-
tripping of black money?
How does George Orwell justify his anti-sport standpoint in the text, 'The
Sporting Spirit'? Do you agree with this standpoint?
2 UNIT - II (POETRY)
Answer any TWO of the following in about 150-180 words each.
(2x5=10)
Describe the characters of the poem 'Ulysses’. Quote from the poem to support
your answer,
Identify and elaborate on all the elements in ‘Strange Meeting' that make it a
'war poem’ STALOYSIUS COLLEGE LimpaRy
What is the signlficance of the poem, ‘Don‘ts?’ MANGALURY - 575 gg3
What is the central theme of the poem 'Afterwards’? How does the poet explore
the concept of time in the poem?
UNIT - IIY (SHORT STORY)
Answer any TWO of the following in about 150-180 words each.
(2x5=10)
In your opinion, who deserves credit for Lushkov turning his life around?
Provide reasons for your answer. '
Describe how discussions on ants dominated the boat as they made their
journey towards Badama.
What did the inspection of the Santa Rosa reveal about the dangerous ants?
What kind of work did Lushkov do for Skvortsov in his employment in the story
‘The Beggar’?

Contdlllz
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nHLnR

A W N R

UNIT - IV (GRAMMAR AND WRITING SKILLS)

Fill in the blanks with appropriate articles. Wherever articles are not
necessary fill with an ‘X’ mark. (5x1=5)

Rakesh graduated with a distinction from Hyderabad University.
Rajath heard old tale from his grandmother.

We are studying English.

Wild animals suffer when kept in captivity.

Ram has come without umbrelia.

Fill in the blanks with suitable prepositions from the list given
below. . {5x1=5)

I wish you’d let me come you.

I declded to call writing.

The room was empty, one man.

Fred’'s mood remained somber the meal.

The game has been cancelled - adverse weather conditions.

(towards, apart from, instead of, along with, in view 6f, throughout,

due to) STALOYSIIS COLLEGE LIRRARY
MANGALURU - 575 0e3

Add appropriate question tags for the following sentences. (5x1=5)
He Is never satisfied with his salary. ?

Students have hardly worked for this fest, ?

Latha is beautiful. ?

Few people were present for the meeting, __ 7

Let's go for a walk, ?

Give one-word substitutes for the following from the list given

‘below, (5x1=5)

Easily upset by unpleasant sights or situations.
Study of the physical features of the land.
To shout loudly

One who pursues noble principles and goals.

A very poor person.
(idealist, topography, squeamish, innoxious, yell, pauper, sadist)
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KONKANI
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I Domoly 50 FDJoWw TPU0TT WTCIT. (1x5=5)
Khanchai eka kavanacho saranx boroya
=4 U Ha-d AR IRIg
1) BSrereodn Dompc” @R Ul AR ol Pardexantlo manglur pavlo
wn e [ B BT e JUI IS Altotak munn udon dhavlo
o030 ol Dara pichar ajyap zalo
DR0P0 $E0T ST’ SR o fpEr 3fegy el Khaisar pavlyachintunk laglo
ook o° T, , OB GER el fIRIe @l Akai amchi anya akai
S803° 580 379, SFSF
kL) ] )
2) ca2dm,e0n8 ES0EY AN dCid lzmolachi vattli
Froo B0 oot FORRE GUIEUT A ddd Danna danna awaz karun
D DD 687, %ﬁ%{%ﬁ‘ﬂa Ehinna I:jh:nn; ki?rkinnavn
Som oo T §|@I. oka modhe ghusli!
Il o =o8,a° wo® wdedm. Eka vakyan zap boroya U 9999 WU SR (5x1=5)

1)

2}

3)

4

5)

2,50 m%md TBEETE 0 8307 SF ALOYSIUS COLLEGE LIRRARY

MANGALURU - 575 003
g gof 7 fard?

Swami supriyache poornn naav kite?

?336%5 260 BN T BRUEE?
Suknnya pila kavanachi kavikonn?
FT0L3R0WE BT B3 Bnimodn?

ey S lad Wit prorr?

Kira bonch kavita zomo konnacho

Srms® S0, TkT, 5mn ZBY, TR WwR?
Konnak kendr sahitya academichi praxasti favo zalya?
‘Dozl =’ 8D PR F® Swerzerd?

G B Biad GHD BIu?

Sonxache kan kavita pustak konnache? Contd...2
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I DowwodF HF0 JIS0s® D’ Loedn. {(1x5=5)
Khanchai eka savalak zap boroya.
@9 TP 99ad Y IR
1) 80 c22dn, 0008 wobl, Bwa0e0Ts, d30 TBRUT WIET QT>? DHTXEOIP.

2)

1L

2.

H3 SoHe acd T ford Efoe famon feae faaRRf.
Kavi izmolache vatle mukhantr kite samajik chitrann dita? vivarsiya

72 4D a'.i’cgzaaﬂ ;o B Hdo WwIislwm.
[= ==

Wfr oy g Ay ffy AR

Shali ani pedruchya vaddike vixi boroy
UNIT - 11
T@enos® T woedte: savalank zap boroya Faa~P oY IRIY (5x1=5)

‘Bas’ TDEBe WptE §30?

‘B TeE o
‘Kon’ padacho arth kite? -

‘Bwore —Bmo-PHSe’ R & Serdo wmado?

T —BH- T U B ST
‘kong — kona —pulo’ munn konne apail’le?
BQ) oL, caé}a'é’déﬁ:jééa;’. 5@5'323@-%@2393*’ 875 ?
SV TSl TR BTl TP 7

Kal'lannacha raja taranginnint konnacho ul’lek asa?

Do NogRoe® Ay, rosmde Y0 t&f 8m?
ST ALOYSIUS COLLEGE LIERARY
G U= O] HI-h UM Jeaidr H? MANGALURU - 575 003

Kancha grantant saptha konkannacho ul'iek asa?

Doo3n |, Jood® IR0T Bwod Jox, 3 evrded?
23 ~ ) k)

W Y dfe” B ior WRehia Salfer?

Khancha nay tadir konkanni sanskriti udeli?
DoWod® 2F0 TeT s BoWods® Qo3 khanchay eka patrachi parichay diya
G U vt ufvey foa (5

%G, dpovme & Hl<pl sapta konkanna

RoR® Socds® TR saraswati nay
Contd...3
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I, Howody B RSoeVE 2oz woodw. Wl UH WATH WU §RIT (1x5=5)
1. woStdmy, Tt FEYoo HBO A lefoMPE

il

dgew e do AT arg
Bandadechya pat thalla vixi boroy
ﬁda;& JoodF &R ﬁ.raot:;g Xowe® gYode.

Tx@fq 7T S HI-o0l GG Hg

Saraswati nay ani konkanni samband kallay
UNIT - III

AT méaéa‘ e’ Woodw. Yeka vakyan zap boroy TS g0 WY SR
(5x1=5)

B, Reocds wowdl Fpr'e J0E 8307
Q0 g §er gui =79 fard?

Shenai goy babache poornn naav kite?
B3, Meoos® oYl wef, Fwy 230 ?

R0 Ty e e B S

Shenai goy babache zalm kenna zale?

DoWw PR T TR’ Iéﬁozﬁwcoﬁf W gzpa:bsf Hde?

G G&® T 0 T §9 A wer?

Khancho pustak vachun shenai goy bab prabhavit zalo?
Tf. SPTeand pRr Jen” 8307

9. Ftpfoa ol 94 fasd?
Bap. Maffeiche poornn naav kite?

0. BRFPeoD oW MCT0Se %o, 8w? 80 I,

ST ALOYSIUS COLLEGE LIBRARY
Y. HB = 716w NI IR 3T FA? MANGALLUIRY - 575 002

Bap. Maffei khancha gavant zaimalo? Ani kenna?

ool 90 RRPOIF 20w’ Woodw. WY TP GIAP WY TR
Khanchay yek Savalak zap Boroy (2x5=10)
a'i’tﬁes Reood® WL 2D Fo DO 2dods.

0} i ey e v iR AR

Shenai goy babachya ballpanna vixi boroy
WSS a:’xa:;i’eoi'xazs:azs BT T, DDO LO03%.

§0. bz ifaw ad fal sk

Bap. Maffeichya sahitik vavra vixi boroya
Contd...4
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UNIT - 1V

RED TOFTYRT T 2WTol%. Yeka vakyan zap boroy

DB = F.0° §307
w B

oo g fha?

Vixexann mullyar kite?
DIeTrHoE’ DT YOBOET Do,

Az 4% IR0 fag

Vixexannak yek udaharan diya
303RTOT T F,0° 8307
= - I

fepaue ger fopa?

Kriyapad mullyar kite?
o T 7o,0° 8307

g g fpd?

Datu mullyar kite?
BRoB 0T 3 0 Go¥ BROT?

i ? ST ALOYSIUS COLLEGE LIBRARY

Konkannent kitle kall asat? MANGALURI! - 575 003

Page No. 4

T 9 WU §RA
(5x1=5)

TROvos® 230& WOoIW. savalank zapi boroy TIaa=p S SRIY (2x5=10)

godsa OB 200 ng 500" BT "oNo WTo3R.

fopg fagaron 31 9 U IgeRur 9iRT IR

Kriya vixexann ani tache prakar udaharanna sangi boroya

o> R0 I3 FFOT LINBTE Zoho T3,
tq TN T TR FagR 0l AR AR

Datu ani tache prakar udaharanna sangi boroy. '
& 2k oK K K
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I A

III

IIL.A

UNIT - I (PROSE)

Answer any TWO of the following in about 100-150 words each:
(2x5=10)

Discuss the question of identity expressed in ""Toba Tek Singh".

Discuss the theme of communal violence in ‘The Ghosts of Mrs Gandhi’ by
Amitav Ghosh.

Discuss the theme of insanity in the prose 'Toba Tek Singh' by Saadat
Hasan Manto. - ,

Comment on the socio-political views of the narrator as expressed in the
text ‘A Hindu and a Muslim Started Living Together’.

Answer any ONE of the following in about 250-300 words:
e (1x10=10)

How does "Sav'itr-i'.s' .,Re‘vem,g.e"r By Manu S Pillai contribute to our
understanding of caste and gender relations in Indian society?
“Toba Tek Singh’ is a powerful satire and a bitter indictment of the political
process and behavior patterns that caused the 1947 India-Pakistan
Partitlon. CommeRrt.

UNIT - II (NOVEL)

Answer any ONE of the following in about 250-300 words:
(1x10=10)

Discuss the theme of corruption in the novel Rita Hayworth and Shawshank
Redemption. STALOYSIUS COLLEGE LIBRARY
MANGAL VP = B75 A2
How do the characters in Rita Hayworth and Shawshank Redemption by
Stephen King navigate themes of redemption and forgiveness?
UNIT - III (POETRY)

Annotate any ONE of the following in about 100-150 words each.
(1x5=5)

Ancient Indian Wisdom is 100% correct, I should say even 200% correct,
But modern generation is neglecting - Too much going for fashion and
foreign thing. Other day I'm reading newspaper (Every day I'm reading
Times of India To improve my English Language}

With a thousand fears that vision's face was grained; Yet no blood reached
there from the upper ground, And no guns thumped, or down the flues
made moan. “Strange friend,” I said, “here is no cause to mourn.” “None,”

said that other, “save the undone years, The hopelessness.
Contd...2
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B Answer any TWO of the foliowing in about 100-150 words each:
(2x5=10)

1. Discuss Wilfred Owen's poem "Strange Meeting’' as an anti-war poem.
5. How does the poem "Stlll I Rise" reflect Maya Angelou’'s own experiences

and identity as a Black woman?
3. What is the significance of the title *The Patriot”?

UNIT - IV (Grammar and Writing Skilis)
IV. A. Select the appropriate one-word substitutes from the options

provided: (5x1=5)

1. State in which the few govern the many a) Monarchy b) Oligarchy
c) Plutocracy d) Autocracy

5. List of business or subjects to be considered at a meeting a) Schedule
b) Timetable c) Agenda d} Plan

3. The mistake of placing something in the wrong period of time a) Misdate
b} Anachronism c) Misplacement d) Prolepsis

4. For which no salary is paid a) Obsolete b) Honorary c) Iliterate d) None of

the above

5. One who possesses many talents a) Versatile b) Nubile c) Exceptional

d) Gifted ST ALOYSIUS COLLEGE LIBRARY
MANGALURU - 575 003

B. Identify the word which collocates with the underlined words in
bold: (5x1=5)

1. Keep: table, money, a secret

2. Get: flop, startedy service

3. Take: agreement, Late, notes

4, Centre: Stage, service, call

5, Huge : service, task, secret

A A

e

C. Write a movie review for any movie that you have watched recently.
(1x5=5)

EXE L L L L b
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I.

II.

o v A wN e

VoA W e

I1I.

mos W

IV.

Vs W e

L

Répondez aux 5 questions: (5x1=5)

Quand célébre t- on La Féte de la Musique?

Quels prix sont récompensés pour |es meilleurs romans francophones?
Combien de personne ont visité I'exposition du peintre americain?
Quelle ville organise-t-elle la nuit blanche?

Nommez deux féte importee en France.

Dans quelle ville la féte de la tomates a commencé?

Répondez aux 4 questions en 9 ou 10 lignes (4x5=20)
Décrivez les fétes importés et exportés en France.

Résumez le roman « Le Comte de Monte-Cristo »

Résumez le roman « Madam Bovary »

Résumez le roman « Les Trois Mousquetaires »

Comment les frangais s’informent ?

Employez le pronom COD ou COI (5x1=5)

R IO A LA D ]

/ i
Vous adapté une chienne,? Qui_._...
Daniel écrira a ses parents? Oui,

Vous écrivez souvent g.vos amis ? Oui,

Avez - vous envoye la lettre? Non,
Le directeur nous attend a dix heures ? Non,

3 onze heures.
(5x1=5)

Mettez les verbes au temps indiqué:

Vous (aroser-present) ces plantes.
Vous (venir — futur simple ) de Maurice le mois prochain?

ST ALOYSIUS COLLEGE LIBRARY

Clotild (sortir, passé composé) du balcon.
MANGALURU - 575 603

Vous (vouloir- present) du café?

Je (étre. imparfait) trés sympathiques.

Répondez en utilisant les pronoms relatifs qui, que, ol : (5x1=5)

C'est l'actice ..........joue le role de Laura.

J'ai téléphoné @ mon ami travaille a ELF.

Nous avons passé les vacances dans le village __ je suis née.
Yentends le poéme il a écrit.

La plage__ nous sommes allés est trés polluée.

Contd...2
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VI.

VII.

VIII.

IX.

Page No. 2

Complétez le texte avec les mots proposés: (5x1=5)

( régle, enfants, souple, trouves, encore)

Une heure de jeu vidéo par jour, et uniguement les vendredi, samedi et
dimanche, soit 3 heures par semaine. Voila [a que les jeunes Chinois
doivent respecter depuis le ler septembre. Tu cela trop dur ? Alors
apprends qu’en plus ils ne peuvent plus jouer qu’entre 20 h et 21 h ! Ouf,
pendant les vacances, ce sera un peu plus puisqu’ils auront le droit de
jouer une heure par jour. Depuis 2019, la Chine réglementait déja le temps de
jeu pour les , avec 90 minutes maximum autorisées par jour et 3 heures
le week-end, uniquement entre 22 h et 8 h du matin. Le gouvernement a donc

décidé d'étre plus sévére.

Dialoguez sur le UN sujet suivant: (1x5=5)
Vous 8tes avec des amis dans un restaurant ou on vous sert des plats
originaux. Vous lisez et commentez la carte. Vous choisissez vos plats.
Votre amie va a un entretien pour trouver du travail. Vous {ui donnez des

conseils.

COMPREHENSION (5x1=5)
Depuis quelques années, le vélo électrique connait un essor fulgurant en
France. On en voit de plus en plus circuler dans les rues, empruntant les
pistes cyclables et sillonnant les campagnes. Ce moyen de transport
écologique et économique séduit de plus en plus d'adeptes. Plusieurs
facteurs expliquent cette popularité grandissante. Tout d'abord,
l'amélioration de la technologie a permis de baisser les prix des vélos

électriques et d'augmenter leur autonomie. De plus, les aides financieres

ouvernementales incitent 3 |'achat de ce type de vélo.
g St ACGTEI0S CoLLECE LIBRARY
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L'essor du vélo électrique s'inscrit également dans une tendance plus

globale de prise de'_‘conscience écologique. De plus en plus de personnes
cherchent a réduire leur empreinte carbone et a se déplacer de maniere plus
respectueuse de |'environnement. Le vélo électrique offre une alternative
intéressante a la voiture, notamment pour les trajets courts en ville.

Cependant, son utilisation pose certains défis. La cohabitation avec les

piétons et.les cyclistes traditionnels requiert une vigilance accrue de la part

de tous- !es~-usagef's. De plus, la question de la sécurité des cyclistes
électrigues est un enjeu important, et le développement d'infrastructures
adaptées est crucial. Malgré ces défis, le vélo électrique a le potentiel de
révolutionner la mobilité urbaine et de contribuer & un avenir plus durable.

Répondez aux questions:

1. Quel est le sujet principal du passage?

2. Quelles sont les raisons principales de I'essor du vélo électrique?

3. Comment le vélo électrique s'inscrit-il dans une tendance plus globale?
4. Quels sont les défis liés & I'utilisation du vélo électrique?

5. Selon le passage, quel est I'avenir du vélo électrique?

Rédigez votre CV. (1x5=5)

Vous cherchez du travail dans université en France. Rédigez
votre CV.

TYTLLL I
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St Aloysius College (Autonomous)
Mangaluru
B.A./B.Com./B.Sc./B.B.A./B.C.A. - semester 1I - Degree Examination
May / June - 2023

MALAYALAM
Time: 2z hrs. Max Marks:60
1. SEIMD OCENZ0 MUI T I POHOADILDLE (5x1=5)
1. @QUDOAABN MO} EUAMUEGINIJEERESHMONDHN?
2, WS)MOBE® RACLN LANETS|ERIGOH@,|Gn U Semiaandod|86)6rmow
cuaswom allome@am ?
3. enateoswl® sodsassmileonsmam) edhgenoud sndnE@ornilado
()& 0emasamowioyemy ?
W) me amorwilaTiswos @olmonads] eot0alajomesElam ?
5. 00)0&H@)0S @M)RATIW)OS aflcuonnamlm oo atejomloyamisio
@OLI2BM EAIDSIM G0REMADD?
II. u@dEAne rUInMUsNIle QUBMA0enL ( D OMEET ) (3x4=12)
6. aldmm@noe mimen)o '
AL} E)ULBNSACTEAIIRL! (TUD(DOSOW..
7. QMo GHOSINOOUEIZoaN0 1O~
&7B0o all@)o BETUA] nldainid
8. wimesges saaldans allswm 60} Aedlwes aNlo@s]
enloeeIm) N30 0M@RNIDAS LD6M 0.,
g. @9 @rogmmsmaﬁ‘ AINEEME|0 §E0M @Y EnIoEI0M. AGSEREMENE!
-
III. 6@} ajnawidd @N@onm STTMRSALY®YE (mammm’lm“) (2x8=16)
10. asmwoetaylwieswle Eleuallamnmye muasngo @0 e iat
apaiclafla/ldlenymemsElom ¢ -
11, nll@ont a&em &MY EENUOUT euoa’]mbnﬂ &0)ONNILODOOTHONES ?
12. GAmNYNETIeISs a0eS RSH)MBES SHEMINT MDY PlEAUNIL0
©0200In) @M MUEMBLONIL0 PRl VRN E N Eo P
IV. 0] apnemiied $0006Mm DOmOaALI@)H (oaenzsmEs 1M} (2x10=20)
13, @oglRoauann sayaNUEE]o LBd:)tIG0 MORID0 EREATTE amldem] aflewloemmys
14. mpuw)mlse rlnlooslen anopsemoe “mildleoamleicd” STALOYSIUS COLLEGE LIBRARY
@pruaelyflafldlesymemeseElam? MANGALURU - 575 003
15, aemuongleu@l@la @all (ueyolaw adsglesymemameman’ nlnucleeye
V. oo@ogomleatss @dLeanaignd (7)
16. How many wounderfull doors have science and technology laid open before modern

man! Several appliances and instrumients that had been unimaginable till recently are
available to us now. The internet and TV are some among them which are really
double -edged swords. These devices assist or harm people according to the way
they use them. Of course, they have opened before us the wide world of knowledge.
They introduce us to a new world where knowledge and fun come together.
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